Radius [pc]

Crater 1 10 100
-_l IIIIIIII 1 IIIIIIII U IIIIIIII l_-
D, =145000 pc P Eg tr——, 5
4 £ , =
Mass from HST photometry P_:,D _5 3 E
o - .
M,=(1.20+0.23)-10* M, -6 [ 3
M/L=1.06+0.29 ek E
S 02F =
Ry=25.28 pc, R=12.47 pc & ,TE 3
o4 0E- —
MF' Slope=0.22 w _0.1 E 35
2 _0.2 EI IIIIIII 1 1 IIIIIII 1 1 IIIIIII 1 ‘=f
1 10 100
Radius [arcsec]
?6 I I IIIIIII I I IIIIIII I I ?6 I I IIIIIII I I IIIIIII I I
o [ 1 @& [ .
A N -
24r 1 24r B
Sl 1 g.r ¥ h
S [ PM 1 T [RV ;
L 0 @ 0
> - 1 > B ]
Yy Op—=—=====-====—-—~ — v O === ==
> [ 1 = .
_2 - — _2 - —
i 1 1 IIIIIII 1 1 IIIIIII 1 -I i 1 1 IIIIIII 1 1 IIIIIII 1 _I
10 100 10 100

Radius [arcsec] Radius [arcsec]



